A Turbines Ltd.
* MW54 Turbo-Prop Drawing $et

S T 2




Item
No

Description

Manufacturer

Remarks

128

Exhaust inner

129

Overlap plate

130

Exhaust outer

131

Exhaust front

132

Exhaust cone

133

Exhaust stack rear

134

Exhaust stack top/bottom

135

Exhaust stack front

136

Exhaust wadding

137

Mounting lug

138

Wadding retainer

139

Locking wire

250

3
=

140

Turbine nut

141

Power turbine

142

Collar

143

Clamp ring

144

Gasket

*

145

Tunnel

146

Turbine shaft

147

Shaft lube sub assy

148

Manifold

149

Air pipe

150

Lube pipe

151

Oil drain fitting

TN Y TN TN PR D ACN | ] G Y T S

Issue: 1

Item List Turbo Prop

Sht.2




Item
No

Description

Manufacturer

Remarks

155

Gear case

156

Bearing support spigot

157

Gearbox front

158

Propshaft housing

159

Cowl

160

Prop driver

161

Spinner nut

162

Prop shaft sub assy

163

Prop shaft

164

Gear lube sub assy

165

Bearing retainer

166

QOil thrower

167

Fibre washer - 6 dia.

168

Locknut - M5

169

Gear set

170

Gear 1

171

Gear 2

172

Gear 3

173

Gear 4

174

Bearing ceramic 688

175

Bearing - special

176

Bearing

107

Bearing

178

Bearing

179

Bearing

180

Shim

181

Spring washer

182

Tolerance ring

Issue: 1

Item List Turbo Prop

Sht.3




item
No

Description

27

Manufacturer

Remarks

183

Wavy washer

o
S

To suit

184

‘K’ slotted spring

185

Washer - 3 dia.

186

‘O’ ring

187

‘O'ring

e e e LS E-S

188

Dowel pin

189

Cap screw M2.5 x 5

20

190

Cap screw M2.5 x 6

12

191

Cap screw M3 x 10

192

Cap screw M3 x 8

193

Cap screw M4 x 10

194

Cap screw M4 x 25

195

Grub screw M3 x 6

AN.—\.—LQO}

196

Nut M5 (high tensile)

198

Domed nut M3

199

Star washer 3 dia.

[ ) 8N

Issue: 1

Item List Turbo Prop
Sht.4




24--0

MW 54 TURBOPROFP




Dimensions in Millimeters

| 11

b
|
3

1.0/0.5 - (adpst item 142 to achieve)

Designed by: Mike Murphy | Material: As detalls

Drawn: Terry Lee | Third Angle Projection |@ WREN Turbines |MWS54 - Turboprop Title: General Arrangement lissue: | |Part No. 100




Dimensions in Millimeters

Designed by: Mike Murphy |

Material: High nickel steel

Drawn: Terry Lee | Third Angle Projection |@ WREN Turbines | MW54 - Turboprop

Title: Interstage NGV (cast)

|Issue: |

[Part No. 101




Dimensions in Millimeters

72.3

Designed by: Mike Murphy |

Material: As details

Drawn: Terry Lee

| Third Angle Projection | @ WREN Turbines | MW54 - Turboprop

Title: Spider (Outline) lIssue: |

| Part No. 102




Dimensions in Milimeters

2 off

Designed by: Mike Murphy |

Material: As detalls

Drawn: Terry Lee

| Third Angle Projection | @ WREN Turbines | MW54 - Turboprop

Title: Exhaust Assy

lIssue: |

|Part No. 103




Dimensions in Millimeters

180 W
EE=sisss=rIgExssca I&I 2 off —

Enlarged view showing
onentation of shims

A

auuﬁ’
coffl| 9| H‘)“'a
cofi{1 99 1
o oot &
Designed by: Mike Murphy | Material: As details
Drawn: Terry Lee | Third Angle Projection |@ WREN Turbines |MW54 - Turboprop Title: Shaft sub assembly lissue: | [Part No. 104

it




Dimensions in Millimeters

No. off n2$xle
to suit |2 off
@ 29 (570 (177 (58 (159
g =< -
| 89) 8 off
mAEXS
+ details \
il
17D
i |
(= @ @ 9 (62 (89 (78 @
not shown 8 off + details 2 off
oRavR w (M. + detals Myxg

Designed by: Mike Murphy |

Material: As detalls

Drawn: Terry Lee

| Third Angle Projection | @ WREN Turbines [MW54 - Turboprop

Title: Gearbox Sub assy [issue: | |PartNo. 105




Dimensions in Millimeters

Make ring £ stays (4 off) from
@ 4 steel bar, join by welding
76

e

Ref: Rear face of
interstage NGV
(part 101)

Position of M3 holes in gear case.

Flatten ends of stays # dnil holes (@ 3.2)

Fit screws (1 92) from inside, secured with
locking compound. Fit stays, # secure wmith
M3 dome nuts (1 98) & washers (1 85)

Lugs welded to rear face
of nng

Weld mounting lugs (4 off) to nng,
position inner holes equi-spaced
on 70 PCD (to match NGV)

(See item | 37 for detalls)

Designed by: Mike Murphy _|

Holes for mounting to bulkhead
of model/test stand etc.

Scale: Half size

Materiai: As shown

Drawn: Terry Lee | Third Angle Projection | @ WREN Turbines | MW54 - Turboprop Title: Enaine mount - rachal {Issue: | |PartNo. 106




Dimensions in Millimeters

Fuel to engine

— — — —

N . o
——| SR g e NN, Ju L--
——' Case pressure I\ . ~
N — ] -
Rcstnctor) ( b g j r ]'ﬂ—
P 5 Breather
Lube D@E = gi:d
F\(/Prcssurc switch Suction -
Battery D Pump Pikker
e \\H_j ol
tank
Designed by: Mike Murphy | Material:
Drawn: Terry Lee | Third Angle Projection | @ WREN Turbines |MW54 - Turboprop Title: Lubrication schematic [issue: | [PartNo. 107




Diménsions in Millimeters
| 56.25
]7 75.5 inside _J\
. S
View on 'A-A' 2
5
[
N
ol
== - - o
O
L 510.5 Developed shape
X NOTE: This item replaces items 131 & 135
Designed by: Mike Murphy | Material: Stainless Steel Sheet - .5 thick
Drawn: Terry Lee | Third Angle Projection |@ WREN Turbines | Title: Exhaust | piece Front [Issue: | |PartNo. 125




Dimensions in Millimeters

®» ® @ @

41

Ref @74.5
74.6
Ref @35
|
|
E
E
|

Section

Enlarged view showing 'overlap plate'
spot welded to 'case outer

 DBsigned by: Mike Murphy | Material: As details

Drawn: Terry Lee | Third Angle Projection [@© WREN Turbines [MW54 - Turboprop Title: Exhaust manifold [lssue: | [PartNo. 126




Dimensions in Millimeters

(210)

| off each hand

Designed by: Mike Murphy—l Material: As details

Drawn: Terry Lee

| Third Angle Projection [ @ WREN Turbines | MW54 - Turboprop Title: Exhaust Stack

[Issue: |

|Part No. 127




Dimensions in Millimeters

_ 14

o 9

8 =

8l ® a — - o Sk

o 8

) '}

Q = K

0
113.4
*
Developed shape (including Smm overlap)

Designed by: Mike Murphy | Material: Stainless Steel Sheet
Drawn: Terry Lee | Third Angle Projection [@ WREN Turbines | MW54 - Turboprop Title: Exhaust Inner [lssue: | [PartNo. |28




Dimensions in Millimeters

21

Designed by: Mike Murphy 1

Material: Stanless Steel Sheet (316)-.5 thick

Drawn: Terry Lee | Third Angle Projection | @ WREN Turbines | MW54 - Turboprop

Title: Overlap plate

|Issue: 1

|Part No. |29




Dimensions in Milimeters

235.5

118

40

10

25

67.75

2 Holes @2.6

S50

Developed shape

Designed by: Mike Murphy |

25

Material: Stainless Steel Sheet (316) - .5 thick

Drawn: Terry Lee

| Third Angle Projection | @ WREN Turbines |MW54 - Turboprop

Title: Exhaust Outer |issue: |

|Part No. 130




Dimensions in Milimeters 2.5 Flange

(both sides)

75.5 inside
I
@56
€0 - Flange removed for this distance

Developed shape

Designed by: Mike Murphy | ! Material: Stainless Steel Sheet - .5 thick

Drawn: Terry Lee ] Third Angle Projection [@© WREN Turbines |MW54 - Turboprop Title: Exhaust Front [issue: | |PartNo. 131




Dimensions in Milimeters

@56
@34 Qutside
|
@e2

311 .5 Matenal

Developed shape

Designed by: Mike Murphy | Material: Stainless Steel Sheet

Drawn: Terry Lee | Third Angle Projection |@ WREN Turbines |MW54 - Turboprop Title: Exhaust Cone llssue: | [PartNo. 132




Dimensions in Millimeters

€0

— IAI

'35
:: r

Q
I~
o)
[l

- =
Y
k)
3
[3]
[
[

Section 'A-A!

Designed by: Mike Murphy |

Material: Stainless Steel Sheet

Drawn: Terry Lee | Third Angle Projection [@ WREN Turbines |MW54 - Turboprop

Title: Exhaust Stack Rear [Issue: |

[Part No. 133




Dimensions in Millimeters

&
i |
\& [
@32 |
0 |
;'t) 0 IA| : I f IAI
« i K
| Bendlne I /\
‘ 350
| 1 0
.5 Matenal | b '
0]
3 ; Note: Top L.H. & bottom R.H. as drawn
Section 'A-A Bottom L.H. ¢ top R.H. opposite
Designed by: Mike Murphy —I Material: Stainless Steel Sheet

Drawn: Terry Lee | Third Angle Projection [@ WREN Turbines | MW54 - Turboprop Title: Exhaust Stack Top/bottom lssue: | TPart No. 134




Dimensions in Millimeters

38.25

60

20

.5 Matenal

Developed length = 85.25

Designed by: Mike Murphy |

Material: Stainless Steel Sheet

Drawn: Terry Lee

| Third Angle Projection {@ WREN Turbines | MW54 - Turboprop

Title: Exhavst Stack Front

|issue: |

[Part No. |35




Dimensions in Milimeters

\YJ(\

15
20
26

15

Hole @3. 1

Designed by: Mike Murphy |

Material: Mild steel - | mm thick

Drawn: Terry Lee

| Third Angle Projection [@ WREN Turbines | MW54 - Turboprop Title: Mounting lug

|Issue: |

|Part No. 137




Dimensions in Millimeters

10 AF

Designed by: Mike Murphy |

X "*—::E

SECTION

Counterbore @7.2 x 1.5 deep

Material: Stainless Steel

Drawn: Terry Lee

| Third Angle Projection [@ WREN Turbines | MW54 - Turboprop

Title: Turbine Nut

[Issue: |

|Part No. 140




Dimensions in Millimeters

Leading edge face

P

@6.35 to suit shaft

Designed by: Mike Murphy |

9.474

10.7

Material: Inconel

Drawn: Terry Lee | Third Angle Projection [@ WREN Turbines [MW54 - Turboprop

Title: Power Turbine

|issue: |

|Part No. 141




Dimensions in Millimeters

7777

. - x - 3 :’
a [
b2
s Scale 4: |
. 8.5
=
—
I 1.5 nominal - (adjst length to mantan |.0/0.5 dim on drawing 100 Actual Size
Designed by: Mike Murphy | Material: Steel - En24

Drawn: Terry Lee | Third Angle Projection |@ WREN Turbines | MW54 - Turboprop Title: Collar [issue: | |Part No. 142




Dimensions in Millimeters

o
N
— < 5 o e e
s S}
- 6 Holes @ 3.1
on 28 PCD
Designed by: Mike Murphy | Material: Stainless steel

Drawn: Terry Lee | Third Angle Projection {@ WREN Turbines | MW54 - Turboprop Title: Clamp ring [Issue: | |Part No. 143




Dimensions in Millimeters

4I 1.5
o
o
o <
—_— o 0
8 B8
o
o

Designed by: Mike Murphy |

€ Holes @ 3.1
on 286 PCD

Material: High temperature gasket material

Drawn: Terry Lee

[ Third Angle Projection | @ WREN Turbines | MW54 - Turboprop

Title: Gasket

lIssue: |

| Part No.

| 44




Dimensions in Milimeters

Chamfer .25 X 45°

32

@32

@22
@17.40
D17.47

|l 33s

214

@219

€ Holes tap M3
on 28 PCD #

Designed by: Mike Murphy |

10.4

18.9

@238

___J 2.4 to sutt ar pipe # 6 Holes @3.2 on 33 PCD #

Material: Alumimum

Drawn: Terry Lee

[ Third Angle Projection |@ WREN Turbines |MWS54 - Turboprop

Title: Shaft Tunnel

Note: Relatve position of
items marked # 1s important

|Part No. 145



Dimensions in Millimeters

o NM W
gt oo > o
© 23 = ol RS
LURT) ™~ 1) W W N0
S ) 8 | s
| [ -

T

74

W

=

Spanner flats 4 AT
10.5 17 31 2 6
90 Ref.

Designed by: Mike Murphy |

MS (RH)

Material: Steel - En24

Drawn: Terry Lee | Third Angle Projection | @ WREN Turbines |MW54 - Turboprop

Title: Turbine shaft

~ |issue: |

|Part No. 146




Dimensions in Millimeters

34.7

2.8

.~

Silver solder pipes into manifold

0

_:_:mma

Designed by: Mike Murphy |

Position of pipe ends may
be adjsted to suit tunnel
by slight bending on assy.

TAP hole in bottom
of maincase M&
to 12 dim.

LS

Material: As details

Drawn: Terry Lee

| Third Angle Projection | @€ WREN Turbines |MW54 - Turboprop

Title: Shaft lube Sub Assy

llssue: | |PartNo. 147




Dimensions in Millimeters

3.5

0]

R37.75

Hole @2.4 x 8 deep Hole @1 .6 x & deep

= =3
e &
E==n

Engrave 'LUB' # 'AIR' as shown

2 Holes M3 - into dnlled holes

Designed by: Mike Murphy |

e A
»-E?N‘\
el

Hole @6

12

Material: Brass

Drawn: Terry Lee

[ Third Angle Projection |@ WREN Turbines |MW54 - Turboprop

Title: Manifold

lIssue: |

|Part No. |48




Dimensions in Millimeters

12.8

Designed by: Mike Murphy |

32

@2.4 Tube

Material: Brass tube

Drawn: Terry Lee

[ Third Angle Projection |@ WREN Turbines |MW54 - Turboprop

Title: Air Pipe

[Issue: |

|Part No. 149




Dimensions in Millimeters

17.4 10.:5

27.4

Designed by: Mike Murphy |

Material: Brass tube

Drawn: Terry Lee

[ Third Angle Projection [@ WREN Turbines | MW54 - Turboprop

Title: Lube Pipe

|Issue: |

|Part No. 150




Dimensions in Millimeters
M6
. . Hole through @3.5
| |
| |
0 L 41
| |
| !
o | |
| |
| | |
| |
© I |
e | |
3 . | /I Hexagon & AF
]
L1 -
! |
| |
- I
|
R s
| L
|l
Enlarged view
scale 4: | 24.5
actual size
@5.5
Designed by: Mike Murphy | Material: Steel
Drawn: Terry Lee | Third Angle Projection |@ WREN Turbines | MW54 - Turboprop Title: Ol drain fitting [issue: | |PartNo. 151




Dimensions in Millimeters

Dowel Hole ©2.5 x 6 deep
In conyunction with Cover #

Chamfer
.25 x 45°

I 2 Holes Drill & deep §Tap M2.5 x & deep

on 66.5 PCD #

Hole @ 6 .00/6.05
in conunction with Cover #

n| 0 n
g o 88 i i 3
8 8§ g2 Sy o 5
[
=iy
Iol /
rng groove
1.5 wide Al 175
x |.4 deep 73
. S, | » 6 Holes tap M3 through
3 \q o, on 33 PCD #
' A / l
Note: Relative position of holes
marked # 15 mportant
36 Ref.
21 21
|
I
+ o
NOTE: More holes required for lubrication;
See 'Gear lubncation' (Drg. 1 64) ¢ ?Zr:;l:i hs:u::;%h
‘Shaft lube sub assy' (Drg. 147) [for engmne mount stays]
Designed by: Mike Murphy | Material: Alumimum
Drawn: Terry Lee | Third Angle Projection |@© WREN Turbines | MW54 - Turboprop Title: Gear Case [Issue: | |PartNo. 155




Dimensions in Millimeters
m —
0 W % . 1 Do ® L o 25
g & & TP S
= [
7|
4 |
Scale 4: |
= 5
e I b—
2 G
Actual Size
Designed by: Mike Murphy | Material: Steel - En24
Drawn: Terry Lee | Third Angle Projection | @ WREN Turbines | MW54 - Turboprop Title: Bearing Support spigot llssue: | |PartNo. 156




Dimensions in Millimeters

Dowel Hole @2.5 ream
in conjunction wmith Main Case

@73.5

@63.5
@19.00
19.05

18.90
18.93 ctrs,

!l
|12
Gentreg
258

Drain hole @3

Designed by: Mike Murphy |

225 | 2 Holes @ 2.7
on 68.5 PCD #

Hole @16.00/16.05 - bore n
conpnction with Main Case #

8 Holes tap M3 through
on 50 PCD #

Note: Relative position
of holes marked # 15
important

Material: Alumimum alloy

Drawn: Terry Lee

[ Third Angle Projection | @ WREN Turbines | MW54 - Turboprop

Title; Gearbox front

lissue: | |PartNo. 157




Dimensions in Millimeters

Chamfer | x 45°

& Holes M2.5 x & deep min.
on 32 PCD P on 50 PC
22_ 5e

Designed by: Mike Murphy |

8 Holes @ 3.2 through #
5 D

NOTE: Some lines omitted for clanty

& 2 A
(O] 3 \
) L fl _! f B D) N
B l I
g | (O L
© - ol W 14.5 ] 0.5 | - o W
N e _ [ QA o ——
Q a . 4 Q ] Q | |
N _ [—_ » ©
i 1 f
] 3 0
» \
3%
c :ﬁ’/
S35 s,
v 5% <y
258 3
is
Dgﬁ
s

Relative position of holes marked #
15 important

Material: Alumimum

Drawn: Terry Lee | Third Angle Projection I@ WREN Turbines | MWS54 - Turboprop

Title: Prop shaft Housing {Issue: |

[Part No. 158




Dimensions in Millimeters

iy 10 ot o

g g = - § 3

5 5 45 £ S} S}

8 Holes ©2.5
13 on 32 PCD
This item 15 for decorative purposes only.
Method of manufacture to suit bullder:
1.e spun, machined from solid etc.
Shape may be modified \f required.
Designed by: Mike Murphy | Material: Aluminium Alloy

Drawn: Terry Lee | Third Angle Projection | @ WREN Turbines | MW54 - Turboprop Title: Cowl lissue: | |PartNo. 159




Dimensions in Millimeters

P

w
@12 X | deep

1
\ﬁ:*f‘_.j
t

|| Ret.29.75 |

e L

7

O

Designed by: Mike Murphy | Material: Steel

Drawn: Terry Lee | Third Angle Projection [@ WREN Turbines | MW54 - Turboprop Title: Prop Driver [issue: | |PartNo. 160




Dimensions in Millimeters

&

Tommy bar hole

} ﬁ\ / 4.2

I —

} Dnill through @4.2,
counter bore @7.2 X 6 deep

/)
N4
|
35
E
|

p\g<)’

a_g,

Drll 28 deep & tap M8 x 24 deep

Lower half shows rough
turning before final shaping

Designed by: Mike Murphy | Material: Aluminium alloy

Drawn: Terry Lee | Third Angle Projection | @ WREN Turbines | MW54 - Turboprop Title: Spinner nut lissue: | |PartNo. 161




Dimensions in Millimeters

2 off 2 off

@ Y73 179 163

I

I) Assemble beanngs to shaft as shown

2) Fit gear to shaft using retaining compound 'Loctite 601"

3) Drill 8 deep & tap M3 X G deep (on jont between shaft ¢ gear)
4) Fit 2 grub screws M3 X € long until they 'bottom!’

Designed by: Mike Murphy | Material: As details

Drawn: Terry Lee | Third Angle Projection [@ WREN Turbines |MW54 - Turboprop Title: Prop shaft sub assy [Issue: | |PartNo. 162




Dimensions in Millimeters

Tap M4 X & deep

)
8 B8R | 8% S
210} 0 s (LYo Q
El\ (DY) ==

2 s

E v
- - : — &t -§— -
Rs
9.5 ¥ 27
23 20 53

Designed by: Mike Murphy |

Material: Steel - En24

Drawn: Terry Lee

| Third Angle Projection | @ WREN Turbines | MW54 - Turboprop

Title: Prop Shaft

[Issue: |

|Part No. 163




Dimensions in Millimeters

Main Case
| Lower jet - @ 1.6 brass tube

(13 long)
D
|
18

1Q
Dnll @3 X € deep

w

|7

eos ||| | ]
M5 | ‘ Dnll @2.5 through tube # case Upper jet - @1 .6 brass tube (13 long)
in a suitable position. Fix tube to solder nto hole in feed tube
_ﬂ case using M2.5 x 5 cap screw |
(secure with locking compound.)
P1PC end ﬁttmq - Mtl: brass Flatten end of feed tube & seal

Solder M2.5 nut to tube

Feed tube @3 brass

i

'O’ nng to seal (187)

Dnill hole @5. |
to 40° ¢
| 7 dimensions

Tap M3 at 50° ¢ 22.5 dims
for gearbox breather

Secure with M5 locknut
(not shown) (item | G8)

Material: As detalls
Title: Gear lubrication system |Issue: |

Designed by: Mike Murphy |
Drawn: Terry Lee | Third Angle Projection | @ WREN Turbines | MW54 - Turboprop

[Part No. 164




Dimensions in Milimeters

«)

~

E&I‘(G-

28.5
D14

e—

Scale 4: |

Enlarged view

Actual Size
Designed by: Mike Murphy | Material: Steel
Drawn: Terry Lee | Third Angle Projection [@ WREN Turbines | MWS54 - Turboprop Title: Oil Thrower [issue: | [PartNo. 166




Dimensions in Millimeters

AF

@e+

28

12

Designed by: Mike Murphy |

Gear |
| 3 teeth
ltem 170 - (Part No PHS 0.8-13 RH)

Gear 2
32 teeth
ltem 17| (Make from Part No SH 0.8-32 LH)

Gear 3
I'l teeth
ltem |72 -(Special gear, but can be made from Part No SH 1-1 1 LH)

Gear 4
25 teeth
Item |73 (Part No SH 1-25 RH)

REF-6

Gear 3 pressed nto gear 2

Material: As details

Drawn: Terry Lee | Third Angle Projection | © WREN Turbines | MW54 - Turboprop Title: Gear set

[Issue: |

[Part No. 169







